L*l ~_ Strona % Weak Cormulation, 10-Heat

—

Two bodfes with different T are locoted ab distance Ax from eoch other

T=0K T=40K T=0K T=80K T=0K T =40K
vT vT vT
a) b) c)
Give Intuitive onswers to the questTons below: gmw tells you the speed
e of the ball.

o0Tn whob direction 75 heot Q!guﬁng n o)
vT tells
From ho{:’ to cold & z[g:;et:?-e'l:he bridge.

o0Whodt hoppens to VT ond the flox 1§ the T-diSE 3s doubled?
Not obviovs.

The heot Slow will be doubled =VT is dovkled and the Clox s devbled.
Helght difE. N_Roll speed.

oWhot hoppens to VT and the Llox i€ the distance 3s douvbled?

Holved , T guess.
0 Can you conclude your Q’mcﬁr\gs?

o _ :."!1
Flux QO(A\ —A_x ) C‘qemous @‘
4.2) Decrtve the strong ¢ weak Corm of the 1D heaok Slow problem

Liko mycket Tn som wt]

St okt iondr varmeledning
TAX —

= Heo+ JQoodx =Heewax)
¥

Mha wmedelvardessatsen §or vi: ;:S

S&(q} Sn=Q@ax , {€ [x,x+ax] \ |
% Q

H(x+Ax) —HOD
= Brer 7R =
A X QCE) O

Balans o
Ax—»0 = f—f -a=0

Deg'm"\ Lion: VarmeSlox g

=& (Aa)-4=0




Konst il ok lo3
Gissning: qz—Kf—;r @ CEoocier)

~Ej hoggen 1 st

Ro\ho(vp\m(_(?(‘

Dirchlet /Nevmonn qex=0)= - (k4T )=ln Nevmann

Divchlet

Den storkow Sormen ges ov difC ekvokTonen + ronduillkoren.

=
%(Aki—x)ﬂt Q=0 , Oex4L

svor: | qx=0)=- (k%),\: h

T (=19

Nu sko vi too Srom den svogo. Formen..

Vi béjor med starka Lormen ovoun och vt (sr [TEe mogt,

1. Moltiplicera med en viktSunktion
Ve [E (ke ge)+ Q=0
Inﬂegra{e
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5 . b
This con be rewritten os A@%‘i"=£¢5")q)5")]&1§‘jgf@cx)d¥
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H%) The weok Sorm of the untoxial heot §low problem s oiven by:

L T L
/ d—vAk:d—dac = —(vVAQ)g=1 + (VAh)z—0 +/ vQdx, T(x=L)=g
0 dx dzx 0

and the weok Sorm Ts STVen by

d dT
— (Ak— ) +Q =0, 0<z<L
dx dx

oz = 0) = — (k%)wzo —h T@=1L)=g

Show thot the weok form tmplies the strong form.



LloL[) /A\ ‘\Od Ts Sumecﬁed 'Eo o N gorce 0% dep?cted be[ow

Shew thot the strong

Corm of the equilibrium egns.

con be written as: E'
dNib-0, N=TA

b(x) A(x)




